
1. A flower has 5 petals. How many petals do 6 flowers have?

2. Jack has 5 of the same coin in his pocket. He has 10p altogether. 
Which coins does he have? 

3. What is same about these two shapes? What is different about 
these two shapes?

______________________________________________________

______________________________________________________

Reasoning

Grammar and punctuation

5. Here are the cost of some items in a shop.

Alex buys two oranges and a pear. How much does he spend?
Show your workings.

24     +      29       =    47

82      - 11       =   91

13   +   12  +   11 =   60 

26   - 10   - 6   =  

¾  of 16   = 

⅓  of  27  =  

9     X       3  =  80

20    ÷ 2 =  4      

Spellings

Arithmetic

1. change
2. travel
3. wrong
4. replied
5. nothing

4. Look at the table below.

1. Tick the correct word to complete the sentence below.

He wanted to see the monster in the cave, ________ he 
was too scared.
 because
 but
 so

2. These contracted words are made up of two 
separate words. Write the words in the space 
below:

 he’ll                ______________
 they’ve           ______________
 didn’t              ______________
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Object Length

crab 20cm
bucket 17cm
spade 10cm
ball 15cm
net 6cm

Which object is half the length of the 
crab?
_______________________________
The ball is longer than the net.
How much longer?
________________________________
What is the difference in length 
between bucket and spade?
________________________________

12p 7p 15p


